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2 FE 5B ] Z f A (5R)
(%) BEER | MEIL |AZKE |FBHER | ZHEER | HE
0-2 46 3 19 1 1 70
3-5 50 27 19 1 7 104
6 -8 117 27 24 4 9 181
9-11 100 47 19 4 9 179
12 - 14 95 157 13 5 5 275
15 - 17 44 96 6 1 7 154
B 452 357 100 16 38 963
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2 FE 5B ] Z f A (5R)
(%) BEER | MEIL |AZKE |FBHER | ZHEER | HE
0-2 46 1 31 0 3 81
3-5 52 27 27 0 7 113
6 -8 101 40 29 2 6 178
9-11 92 43 23 1 2 161
12 - 14 87 112 11 0 7 217
15 - 17 35 62 1 3 5 106
B 413 285 122 6 30 856
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2 FE 5l E R # ZEEHCR)
(5%) SRER | MERIL | iRIRE BHERS| ZEER |
0-2 37 1 52 0 2 92
3-5 62 12 24 1 1 100
6 -8 112 29 27 4 7 179
9-11 96 43 24 0 11 174
12 - 14 76 114 11 1 7 209
15 - 17 41 74 1 1 120
B 424 273 139 7 31 874
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2 FE 5B ] Z A (5R)
(%) BEER| MEIIL | R |BWHER | ZEER | A
0-2 42 1 109 1 5 158
3-5 62 16 20 1 5 104
6 -8 94 30 22 1 6 153
9-11 93 42 26 5 6 172
12 - 14 61 124 4 1 4 194
15 - 17 26 81 1 1 2 111
L 378 294 182 10 28 892
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i FE = B 7 FE G HZEHCR)

iR R SHEER | MERIL | RRMWEE BHER | ZEER | ¥
Y4 S: 380 29 102 16 34 561
X E KB 10 11 2 0 3 26
A S 17 13 1 0 2 33
I 8 14 0 0 3 25
RIE KA & 3 88 0 1 0 92
i 18 1 0 0 26
= il 2 0 0 0 8
G IS 29 0 0 0 37
ERER -9k 1= 19 0 0 0 20
EHB B AL
(EFREAE)| 104 ° 0 ° 105
e 2 PN 13 35 0 0 1 49
HAl 0 4 0 0 0 4
A 461 359 106 17 43 986
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it FE & Bl <7 FE 5 HZEZEHCR)

iR R SHRER| MERIL | mRMEE BHER | ZEER |
Y4 S 330 27 120 7 23 507
X E KB 7 10 2 1 2 22
A S 23 10 3 1 4 41
s 10 14 0 0 0 24
RIE KA & 3 75 1 0 1 80
i & 20 11 3 0 0 34
= il 2 8 0 0 0 10
18 E ZEN B4R 17 0 0 0 25
5] (X FH 2 134 J& 13 0 0 0 14
;ﬁﬁgﬁw’%}fi 0 74 0 0 0 74
(L& A H 3% A 1)
e A N 13 25 1 0 40
HAth 0 1 0 0 1
A 417 285 130 9 31 872
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it FE & B <7 FE B HZEEHCR)

= 1Y B % SRER| MERIE | mRRE BHER | ZHEER |
L BE 351 21 142 6 28 548
R E K B 5 8 5 0 3 21
A S 23 12 1 0 5 41
s 5 7 0 1 1 14
RIE R IR K 2 83 0 0 0 85
i & 17 5 3 0 0 25
= Hil 2 8 0 0 0 10
1o H ZET B ek 8 13 0 0 0 21
5] {3 FH 2 134 J& 0 8 0 0 0 8
;ﬁﬁgﬁw’%}fi 1 99 1 0 2 103
(L& A H 3% A 1)
ENE - i N 10 10 2 0 22
HAth 0 2 0 0 2
B 424 276 154 39 900
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it FE & Bl <7 FE 5 HZEZEHCR)

iR R SHRER| MERIL | mRMEE BHER | ZEER |
Y4 S 310 13 178 9 24 534
X E KB 12 6 8 1 0 27
A S 19 23 3 0 1 46
s 8 13 0 0 0 21
RIE KA & 1 91 1 0 1 94
i & 16 1 0 2 23
= il 1 6 0 0 0 7
G IS 3 25 0 0 0 28
5] (X FH 2 134 J& 14 0 0 0 14
&Eﬁﬁ%%#: 1 76 0 0 2 79
(L& A H 3% A 1)
AR HE kA A Iz 8 25 2 0 35
HAth 0 3 0 0 3
A 379 299 193 10 30 911
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